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' Questl(.)n . e TR e @ g waiad el 87 :
, - " has maximum life 1 .
Which power plant has m A E’W e
expectancy? s ) o i
A) Hydro-Power Plant.” B) elle
B) Tiiermal Power Plant. C) Ffderar wie
C) Nuclear Power Plant D) W A vF FAA Bt 2
D) Same for all.
Examples of slurry ty"pe fuels for thermal plants I 2 e TR e § W e # U H 373 8’
are: A) &TTeH + dd
A) Coal and ml/ B) @vael + 9
g; goa: ang wau}:]r’ y C) drUem + BT
oal and methanol<”
D) All of these. D)
In hydro turbines, cavitation results in: "B 3 R ICACIER N, dfacI &1 Fg1 W gsdl 8?7
.| &) Pitting on metallic surfaces of runner blades. A) IR et @ 7 Faer w e
B) Long life for blades. B) &g @ ot 3y |
C) More power generation efficiency. C) IR IS 2 3T gEd
.D) All of these. D) A Wil |
In a gas turbine plant, fuel can be: 2| T oxaria i W, gud b e 27
A) High octane gasol_'pe/ A) & aiwea At
B) Heavy diesel oil” B) &1 el s
| Pttt Cogl 0) e gan e
¢ D) 3 =+
Anthracite coal is: s 5 TeRRIES fFe &1 dga-
A) Clean, dense and hard.~ A) Yae, T T HOR Bl ¢ |
g) E‘on cakm:alnd lllard to lgmte/ B) AF-&fHT a1 oA § $fe |
/D) urns smo egssy C) faar §u @ S|
) All of these. D) & |
Which relation is incorrect? 6 BT I SE AL -
'A) Francis Turbine - Impulse Turbine. A) BRI TRAZA-THIAT SXATEA
B) Pelton Turbine- Impulse Turbine. ' B) dcen exardtgaay evaida
C) Kaplan Turbine - Reaction Turbine. e ‘
D C) DU cRAgA-Ryae exargq
) ) Francis Turbine - Reaction Turbine D) wi
o ™ zlu e\ g1 1§Q‘\\ -1 X9 5’:1
7 Function of 'Spillways' is to: < 7.7 Ty F1 T FH T e
V,})‘Prowde structural stability to dam during \ /0 A) Reservoir # ar@ oo Rufy & 9w & 3 &
reservoir flaoding - / [REIT 37|
B) Provide safety during earth quakes v / B) [@id & WWa & B §RET 247 |
C) Provide extra water during droughts. . \,\ / C) A & W e qﬁ:ﬂ' ;
D) All of these. / . D)3 i SHAE L))
8. /’%:hxch is correct for diesel power plant ? 8. SN IR Wi § @1 98l ol -
No ash handling, but high operatmg cost. A)'A
< , sh' Wa=19 &1 91 85, Ifres aifgrfes:
v B) Difficult to design, but low mdintenance cost. P | R
C) Low efﬂcnency at part loads, but noise B) R i, R -3 — i
problem.. B '
g D) Al of these. g)) :i?g T P T, WY AR A fepa
£ - P . & - I
¢ 9 Gas turbine blade material must possess: 9 N AT © IS B urg A T =Ry’
% J A) high creep rate. A) 3= F9 e
? {'BY 16w creepaté..~ ' B) %89 Y2 o
E C) plasticity at hlgh temperatures. C T TR 8 ﬁl )
D) Electrical conductivity.. D;m STTSHED Y
Iaga EIGETNI
10 | Which is not a boiler accessory" : |10 |5 P8 R & Accessory 78 B
A) Economiser. A) SPFIMIROR 24 l
—+-B) Fusible p}ug}?’ B
C) Superheater” ) TS
.| D) Air Preheater. C) W &R
| D) WR wlidie

|
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- 11 Hook’s law hold$ good ui) to: A) Yield fagg
A) Yield Point . B) yearer
—~B) Elastic Limit-~ C) wifies &
| ©) Plastic Limit - : | 3 A
- | D)Nune of these. 5 f?%;:qﬁ qg'&.lm Sl AT BT T4 Py |
12 7| Property to absorb large amount of energy before | 1 »
) fracture is known as: A) SHRIFE
A) Ductility B) ew T
__}-B) Toughness .. )
Z| C) Hardness C) maRd
D) Shockproofness. D) wer
, e 200 WA, TIT B AR 15 |
I3 | Aboiler shell of200 cm diameter and plate ENEEE mﬁ:azmm 15 MN/m? &, @ &g '\é‘ﬂ
: thickness 1.5 cm is subjected to internal pressure | 3R g :
of 1.5 MN/m’ then hoop stress is: faecran g 5
A) 36 MN/m’ A) 30 MN/m
B) 50 MN/m* B) 50 MN/m"
_-£) 100 MN/m*~ C) 100 MN/m ,
| D) 200 MN/m3 D) 200 MN/m
14 A solid cube faces similar equal normal force on 14 |[wemm s W‘ﬁ b G\}_‘m el W_
ail'faces. Ratio of volumetric strain to linear T &1 39 Reify # 7 axes # Volumetric fgfa
strain on any of three axes will be: Ul W Ry &1 s e grm?
A) A) 1
B)2 - B)2
ox C)3
p) V3 ) D) V3
15 The ratio of linear stress to linear strain i called: | 15 | v&ma ufdaa 3k @G fapfd & rqura @ &7
A) Modulus of Rigidity A) Frge ams Rffsfe
J- B) Modulus of Elastig'ty// B) AIge¥ A% Ay
- C) Bulk Modulus C) % Arga™
) D) Poisson’s Ratio D) 3um '
(16 | A coil is cut info two halves, the stiffness of cut 16 | Y% gvscll @ a1 el & #rey ©w, 3 g0 2R
coil will be: __.- B WEHEIT o @nfe
] “A) Double™” A) AT
B) Half B) 3t
C) Same , C) vzt S
D) None of above D) 374 ¥ =& ]
' 17 In forced vibrations the magnitude of damping 17 e gRT U9 su 3 resonance U 3199
force at resonance equals faa s 2
A) Inertia Force A) Inertia g1
.| B) Impressed Force B) Impressed Tw
C) Zero O
+ | D) Spring Force P | D) Spring ¥& i
18 For'a given material. Young’s Modulus is 18 | v& uerf & fog g 3MH S RIE =200
:zo‘ocr;:/m2 and Modulus of Rigidity is 80 GN/m’ oI Hige s RARE: - 5o GN/m? & |
GN/m". Its Poisson Ratio will be: $9 I ¥ Peisson I e gnpe
A)0.15 ¥ F:26(V13) A)0.15 /
-B)0.20 oo oap T4 2 | B)0.20
| 0078 200 1 e € 002s
o D) 0'3’_5 e D) 0.35
19 | Ifathin cylinder of diameter d ang thicknesstis [ 19 | af vp gy Rrcver 3 = . e
. . § ’ LA =( IR TﬁE’l’g =t
subjected to pressure p, then hoop stress wil] be: 1 @ e e gmr?
};‘; pes A) pd/dt |
pa/t
- Edjz‘/ g) pdit
) pd/2t
| D)pdtt D) 2pdit
20 [ When a bar is subjected to a push of P, jts ‘L’x\\
A) length, width and thickness increase 20 ﬁmw B_i a? (push) =A@ = P e oy ar
B) length, width and thickness decrease B) WTS" FIe N AT 2
C) length increases, width and thickness decrease - A I e we

L

.| D) length decreases width and thjck i ©) : T o s |, Arerd w2 M,
— 1 ) Ickness increase D
‘,\\ﬁ@% Rerd a3

ey €
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21 Jf L= no of links and J=no of joints, then f‘_’f a 21
Y

kinematic chain; \ | # B W *‘szﬁ
A) L=3/2(J+2) , Y e A) L=3/2(J+2) -
B) L=1/3(J+2) ‘ v B) L=1/3(J+2)

. C) L=2/3(J+2) - - g;llj gg((ﬁzl;
D) L=2/3(J+1

22 A)comple(tely )constraincd motion can be 22 | @ gotd: constrained Y ¥=ferd &1 Wahdll &

transmitted with: (A Y " / A) T fiw i wagel @
A) 1 link with pin joints L\ y B) 2 fiw fi M —
B)2 Iink wilh pinJ:oims { //,/, C) e i R 9 2% omep
C) 3 link with pirrjoints | : D) TR foie ft -

/D) 4 link with pin joints
23 | As per Kennedy _ s theorem, if three bodies have | 23 | @+l S0 @ gaiiad, (S A4 arisdl o Tid 4 €

plane motion, their instantaneous centre lies on: @ 997&1 instantaneous centre' f&d W e
A) a triangle A) T e W
B) a point B) t& fag W
C) two lines ) C) 31 aEAl ®® —
_ | D) astraight line./~ D) U@ Al arg W
@ A link is rotating about O, Velocity of pointPoh | 24 | & foid O W gw &1 2 fofe w famg P aik fag
link w rt point Q on'link will be perpendicular to Q & g Y Y@ fread | 90° & B
A) OP 4 \ gAeA? R
B)0Q " A) OP n (i
- 3 JG
QPQ7 :.%’r‘l&/ B) 0Q M o |
D) line in between OP and OQ ¢ C)PQ 6 c\ &
| % D) OP &k OQ @ w1 # \ &
25 | Inakinematic chain, a quaternary joint is 25 | @ BT 94 A, Ud 9l wWIge (e :
| equivalent to: R BIT? 4
A) one binary joint A) U6 9134 Sa1ge
B) two binary joints o B AN waTge
__|-C) three binary joints”" c) :ﬁ: T e
| D) four binary joints ) N g

: D) IR 9137 Wise
26 |Ina damped‘vnbratlon system, the damping force | 26 | (& SUs &4 fiRew &1, ST 9 [Ea Wﬂﬁqﬁ H

is proportional to' BT &7
A) Displacement A) o=
J;g)yxs]c(g;zﬁon B) a
D) Vibrations [C); W
27 | Which of the following, is an approx. straight line | 27 | g% & ‘Straight Line Motion Mechanism' @
motlon mechanism? T P f?;am 2
A) Watt’s mechanism P A) Ted APy
.B) Grasshopper mechanism B q—m F3Rroq
C) Robert’s mechanism_ C) TS Afrow '
D) All of these”™ )
F A F - ‘ D) ¥ wft
or 20 _i pressure angle, minimum number of 28 120 <@ BT R}, @ AAH Tl it
| teeth will be: A) 6 - Rl w0 I
. A)6 B) 12
| B! V C)17
; AC) 1§ D) 20
; | D)20
29 | Which of the following effects is more dangerou TR e e e :
for a ship? - B2 Tﬁﬁq—q b N e B?
A) Rolling B) ¥fd
B) Waving 2 R
O) Pitching”” ¢ SR
D) Steering 0}
30 | The type of gear used for speed reduction of 50 : 1 | 30 | 50 -1 &
willbe ] o UG A A T A D o, Y IR
A) Herringbone A) eRmEE e
B) Spur B; Spur T .7
C) Bevel C) Bevel TE o p Y 20
ik«D)WOme\hy/ D) Worm Wheel f Nﬁa@’?
(N q/L/ P }‘—g')( 280

o e 4
" m E? e onclt 5 B
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31 | Critical damping is-a function of: 3] | ‘Critical Damping’ foe @ FrR &7
L7 Mass and Stiffness A) W 3R e
| B) Mass and Damping Coefficient B) i 3w I
C) Stiffness and Natural Frequency . C) Hewd iR BB
D) Natural Frequency and [2;1111?5"8 CoefTicient D) BRI 3R
32| The ratio of endurance limit in shear to endurance | 32 | RiR ¥ 'Endurance Limit' 3R worger §
limit in flexure is : 'Endurance Limit' &1 3rurd e g
A)0.33 A)0.33
B)0.4 B)0.4
0.5 . C)0.5
. | D)0.557 D) 0.55
33 | Arivet is specified by: TT[33 | @ Rae @ @ g
WY Shank Diameter - A) % @ @ A
B) Length of Rivet B) Rac ot orwarg A1
g) WIP" of Head C) Head @ frad 911
] ) All of these D)quﬂ
34 Which of following welded joints is designed for | 34 Rror emer @ forg dar dfesT warge =fes? ]
shear strength? A) foe 38 arge (Transverse)
A) Transverse Fillet Welded Joint B) @R fihele dcs warge (Parallel)
_.|-B) Parallel Fillet Welded Joint dem :
+=""| C) Butt Welded Joint £)%e S=RE
D) All of these By S ssin
35 | Fatigue life of a part can be 1mpr0ved by: 35 | U@ g @ Hifa S aeil?
A) Electroplating’ A) FafeeRmafeT gr
B) Polishing B) diferer gy
C) Coating _ C) BT gr1
|- DL Shot Peening- D) wre §f¥T gRr |
36 | A transmission shaft includes: 36 | grfieE mwe | a1 afevw?
A) Counter Shaft__
B) Line Shaft__ :3\3 :{T::? $
)G e ot cy s
- ! D) ¥ ||
37 | Ifthe tearing efficiency of a riveted joint is 75%, |37 | U® Rae wa1ge @ Be 3! &war 75 ghawd 8, 59
then the ratio of diameter of rivet to the pitch is Reft % Rae @ ik Rae fg a1 sgam e
equal to: e
| Ay02 A)0.2
LB 0.25/ B) 0.25
C)0.50 C)0.50
D) 0,6 D) 0.6
38 | A backmg ring is used inside the plpeJomt when | 38 | UISU WEIEe @ aiaR dfdT R fhw Rafy § 9qam
makin ¥ 7 \ [\
_dAyFutt Weld A) T IS r\ ’
B) Fillet Weld B) fiele des A
C) Sleeve Weld C) wia e \/\J /
D) Socket Weld D) wde ¥ce /,
39 | In hydrodynamic beanngs usual clearance 39 | eEseEtte ’s}ﬁ‘ﬂ i*{ Y TR @M @ 9B f’ch‘cﬁ‘r\)/ .
provided per mm of diameter of shaft is: clearance § =t 22 Q
A)Q .01 Micron A)0.01 Micron o
B) 01 Micron B) 0.1 Micron g
| €) I Micrgn C) 1 Micron lj
“" | D) 10 Micron D) 10 Micron
40 | Inblock brakes, the ratio of shoe width and wheel | 40 | =% @& A [ Arers 3N Ry @ @ 31 FuTT
-| diameter is kept between foram g 27
A)0.1and 025 A)0.13k0.25 L
_1:B)025and 0.86~ B) 0.25 3% 0.50 o¥ e =
C) 0,50 and 0.75 N C) 0.50 3k 0.75 / y (
D) 0.75and 1.0 N / R\ D)0.75 3R 1.0 ‘f ~
0 f 7
v 4 I
: F7 &
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_'" ¥ ’ ", 0 {7,— Sl“:ﬂo "y e > 7 /_,«
it ) (74 i 6‘1"% e‘)" R =
A Na L, — o~
e 3 o P o p!
41 | Compareto spur,gears, helical gears: 41 'ﬂq?_ﬁ‘mq & HIA 7, ?Fﬁm fmr
L , A) SUIGT {ART A P & |
=AY Run more smoothly _ B “
B) Run with more vibrations and noise B) wureT ¥R 3l @ud 0 e @ 1L Bl
C) Consume more power C) warer wfd o & - -+
D) Run exactly alike D) B " TE | ' '
~ |
M2 [A hquxd COlnprCSSLd in a cylinder has a volume of | 42 | u& fafaver ¥ 50 Kg/em® gara ER Q’cﬁ e yaref
/| 0.04m’ at 50 kg /cm’ and volume of 0.039 m" at & UHd 0.04 mJ ¢ 3R 150 Kg/em? guia W 7%
ISOJ\e,/cm The bulk modulus of elasticity of 1% 0.039 m’ 2 Srar 21 39 avd ¥ 'Bulk
liquid is: Lo\® : Modules ofElastluty feer ETTU?
A) 400 kg/em’ + g | A)400 kg/em?
B) 4000 kg/cm’® 1 B) 4000 kg/cm?
C)40x 10 kg/em’ C) 40x 10° kg/em?
' D) 40 x10° kg/cm? D) 40 x10° kg/cm?
43 | The density of water is 1000 kg/m” at 43 | urft @1 9@ 1000 Kg./m® &4 grm?
A0 C A)0°C
B)o. K ! , B)0°K
qgOAC A - C)4°C
SDy200 ¢ D;20°C
44 | The buoyancy depends upon 44 | ST fha wfeR gwd) 87
[_}-A) Mass of Liquid Dlsplaced/-’ A) T2V Y &RA P FTAAH W
B) Viscosity of Liquid B) R &) fvapifid) ©
C) Pressure of Liquid Displaced C) B2 7 TR @ T9T |
D) Depth of Immersion D) Immersion @ Tewré 7
45 | The ratio of inertia force to surface tension is \@ 45 | 98w ad 3R surface tension @ 3?3‘47?{ Eofc]
_known as: 4 FEd 27 '
A) Mach Number A) AP FaR
B) Froude Number B) WRI98 TR
C) Reynolds Number N\ C) ¥res Ha]
_ Duhip,er—’s-Number D) R ww
46 | For a floating body to be in equilibrium: 46 | M & A > A @ forg
A) Meta Centre should be above CG. A) Meta Centre TH@r@yv famg ¥ S &1 =fey
B) Centre of | Bouhcy and CG must lie on same ‘ B) Centre of Boundary @1 CG T ad wv 21y
i vertical plane =@ |
L C) A righting couple should be formed C) 90° W P T ARy
_LDyAltotasove - D) )
47 | Anideal ﬂow of any fluid must satisfy 47 | {0 T &1 Ideal Flow foha zaitar 27
i A) Pascal Law A) uEd #1 g
B) Newton Law of Viscosity _ B) e @1 RuaiRid Rgr
: C) Boundary Layer Theory C) T9ed R Rier |
| D) Continuity Equation . .
e S (o D) Continuty Equation (Rigr)
(4% | A piece ofw_ood having weight of Skg floatsin [ 48 | 7w 5 kg ciare) & THS I 60 ylerera fewm &a -
= | water with 60% of its volume under the liquid. * THE U B A | DL B 'Specific Gravity'
"The specific gravity of wood is R ol /f}b fra arfy?
@ Pl
A) 0.83 g, <l | A)083
B) 0.6 L5u™ ‘/3 - £4 1< ./dB)0s6
€)0,4 ¥R ~e . |- 1C)0a
1 D)0.3 e D) 0.3
49 | Bernoulli’s theorem deals with the conservation | 49 | '‘Bernoulli W ferat e gETh 82
of oo . %{c A) TEEH
A) Mass \J/" X B) a0
B) Force C) T
Jl C) Momentum D) ot
|| D) Energ _
: 30| Nature of flow is determined by: 50 | W @ qer@ @ <% A < &7
A) Mach Number A) Mach Number
B) Froude Number B) Froude Number
C) Reynolds Numbgr C) Reynolds Number
i | D) Weber's Number D) Weber's Number
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51 | Rotometer is used tp measure 1 51 m A
A) Rotation & m
_ |.B)Flow
e C) Pressure C) gdrd
D) Velocity D) a7 — -
52 | Heat transfer takes place as per 52 | o fafrg . mﬁaa% R ﬁm{
A) Zeroth Law of Thermodynamics A) Thermodynamr'ces W
B) First Law of Thermodynamics o B) Thermodynamices @ ugal fam o
C) Thermodynamices & T&R a9 v

) Second Law of memodynamlgs/ -

’
LR
<

~| D) Kirchhoff’s Law . D) favemg ﬁ?zm w v
53 | With rise in temperature, thermal conductivity of | 53 | a/9w 38 W, &a1 @ ¥HA ATABAI- A
ains A) 7edl & v= 149
e»/«()’\ﬁéases . B) =edt T
8 gecre?sei: tant CJ) T 5 > 8
N e D) argar & fear @ gedt 7 vedr @ 99

D) May Increase or Decrease as per Temperature. =
54 | Inheat transfer, conductance equals conductivity |54 | Sen fiffma ¥, ardiear (KCal/hi/mY/c/cm) 37 fog

(Kcalhr/m®/ O C/em) divided by ik /A FRA B AR Erft

\
A)hr (Time) —— - & Q. e Lo A) hr (g73) [ = o
2 b) e . C ¢
B) m’ (Area) © . A B) m’ (E5%d)
. ©) 11 C (Temp) — A C)°C (@)
D) em (Thickness)—"_ £ D) cm (seré)
S5 The thermal diffusivities for solids are generally | 55 | o/ 9ari @1 SH1g 'diffusivity’
A) Less than those for gases A) 1 3 &uig diffusivity' d @9 8t &)
B) Less than those for liquids. = 14— | B)ave vert @ ‘diffusivity' § @9 Bt &)
D) e g*s?;:o;h;;;gm liquidand gases:=" g | ) A o e vl @ AT diffusivity
: e o b 0 ¢ i @ e B &
/ T 4 e A D) 19 @ ¥ uerit & iy 'diffusivity' &
- W R 2| :
56 The ratio of energy transferred by convectionto | 56 'Convection’ 3R 'Conduction' gR1 $oiig g 3
that by conduction is called- AT F T FES 27 e
A) Stantion'Number - .,b: O A) RFTT =Y Fve
e B) Nfissclt Number~~ L Clpeen . B) Ta TR
C) Biot Number- =i C) faare ¢
D) Peclet Number fe D) wde T
57 40 % of incident radiant energy on the surface of | 57 U Thermally Transperant ¥dg @ 40 % @
thermally transparent body is reflected back. If the § fafvdia S amw ste amh 21 3R 3w @ @
transmissivity of the body is 0.15, thenthe A | transmissivity 0.15 & @ was & emissivity
‘emissivity of surface is: KO foa= g
PA.) 0.45 7\ L 3 N A)0.45 " ‘
B)0.ss . . — Nk w | B)0.SS m——
C) 0.40 PSS 1 €040
| D)0.75 AT D) 0.75
58 | The amount of radiation mainly depends on: 58 | fafRer @ W saar ik ad) o
_|--A) Nature of Bogy A) T8 & yBR W
.|-B) Temperature of Body B) €l & gqwE w
C) Type of Surface of Body C) 3 & ¥ag W)
LtD) Al of Above™ . D) A wh |
59 [ Ifthe temperature of solid surface changes from | 59 | afe t& or wag @1 aaaT 277 627 d% Ugd
27 J Cto 627 O C, then its emissive power 402 | ST & o 36 emissive vk frw I
S SALSL O B8 T 3 — .
changes in the ratio of o\ . g | I 22
A). 3. A 24 (,’L'\ ,,(3 A)3 1 1 5 P
| B)6 s - < B) 6 g . v 3 )
39,, : B C)9 e
L ADYE] ) A\(' c D) 81
60 | A grey body is one whose absorptivity: | 60 | 1 3rd 31 absorptivity:
‘A) Varies with temperature A) T W) R s 2
B) Varies with wavelength of incident ray B) ¥t famwr ) wavelength W fpRk o=t 2
C)Varieswithboﬂ{h -l C) A 3R B 2 w frRk ol 2
_/J/l})Does not vary wit terﬂ:} wavelength. D) A 3k B & fnik w8t ot &)
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61 The ratio of heat flow Q,/Q, fromtwo wallsof | 61 | UF el & &Y wae! @ 4 o Afwa 3
same thickness, baving their thermal L AT Q/Q, fa g, afy I Hmasmlqvj) 3
conductivities as K, = 2K, will be f‘ - Ki=2K, & P&k i\ \\\»k“\ d Hx
A)l .81 20 Al 1AL RS .
B) 0.5 b P’ﬁ re B)0.5 ¢ X,S‘/}“ ,,m\’x
C)2 \ v 2 d 02 © \od We ,
.| D)0.25 D) 0.25 ak : N 8
62 | Super heated vapours behave: _ 62 | gREfes IR (Vapour) du 8t 27 - R \jz . Y F
* | A) Exactly as a gas . a3 SO0 A) Rema e @ aee) \° b
B) As steam . -~ : B) Y19 &) =g | 5
C) As ordinary vapour = . ¥ C

C) IRV R & avE |
D) @ 11 & @vE |
63 | Inanon flow reversible process for which P=(-" | 63 | v& Non-flow Reversible Process' % afg
« | 3V+15)x10° N/m?, V changes from 1 m’ to 2 m* P=(3vHIS) X ICN/M*aR T I m* A2 m’ &
Then work done will be: IASRLIN Sl 2, < &1 e g

_D) Approximately as a gas

A) 100%100° joules 0 A) 100x100° joules
B) 1x10° joules x4 B) 1x10° joules
| ©)10x10° joules \§ C) 10x10° joules
D) 10x10°kilo joules D) 10x10°kilo joules
64) | 2 kg of substance receives 500 KJ and undergoes | 64 500 KJ &t e W 2 el et &1 argne -
a temperature change from 100 0 C to 200 () C, 100°C 1 200°C ® wirar & & 36 far § garf 9
Then average specific heat of substance during the sa e o fFah anf?
process will be: € L A) S KJ/kg°k
A) S Ki/kg [ k o7 ot~ B) 2.5 KJ/kgk
B)25SKikgDk > - YL ’
, g0k > C) 10 KJ/kgk
CI0KVkg Ok D) 25 KJ/kg®k
. | D)25 Kikg 0 k .
65 | If H.be the heat supplied to the system to do woik 65 | Wamasfom Hessn A sexa 2ok A U
W and change in internal energy as AU, then; M=IRE Haf § agam 2| 39 Rufy 3
ARAURW A) H=AU+W
B)AU=H + W B)AU=H+W
C) W=H+ AU C) W=H+ AU

* | D)H= W/AU D) H= W/AU
66 # An engine operates between temps 0f 900 0 K 66 | vs o 90°

K 3R T2 avm sk gawr o T2

and T2 and gnothér engine between T2 and400 [ 3R 400° K drowsi & 4 B AT | TP Forgen
e Kr:for both to do equal wcjik/,valuc of T2 w1ll‘be PH TN A AR ZOR B 10 T2 Beaam gy
.~ ¥ LA6S0OK T "’*'\'—("ef;\ - DAY 650°K
I k- ‘B) 600 O K —_ 7 U 5 (—1 Y :& Wz\g) 600°K
= [o62sck = = C) 625°K
ol D) 750 O K A D) 750°K
g 67 | Which relationship defines Gibbs free energy G: | 67 | frag B St B Ry g 57
A)G=H+TS o~ < A) G=H+TS
« _AB) G=H-TS\——" ol % v, B) G=H-TS
-| C) G=U+TS Vo Vi C) G=U+TS
D) F=U+TS D) F=U+TS )
68° [ RMS. velocity of hydrogen gas at NTP is: . 68 | NTP w. ergeiom 9 @ RMS a7 Rt ary?
A) 26m/s  ———TTYT A) 526 m/s
B) 932 m/s ] /zq B) 932 nvs
» | C) 1356 m/s C) 1356 nvs
| D189 mis—m" D) 1839 mv/s
63 |'1 kg of carbon produces following  percentage of [ 69 | s & U ¥ 1 51 o, CO, & fset wr=n
CO; in flue gases: g1 Pvar 22
A 11% A)11%
B) 18 % B) 18 %
1C)23% C)23%
\J%ﬂ%‘”’ o D) 29%
70 [Scavenging air in diesel engine means: 70 | S g9 ¥ 'Scavenging Air' &1 T Hadq 82
A) Air used for combustion sent under pressure A) T F 59 TA @ g A9 7E g
B) Forced air for cooling cylinder B) fRydvey %u@ M D g Ao 78 gy

C) Burnt air containing product of combustion C) <& gvamT el g &

D) Air used for forcing burnt gases out of engine D) Sieh &1 B uder B fayw Aoh &4

QMMexhaus%pmod
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e derd g9
: : Air fuel ratio for idling speed of petrol engmﬁr}\;:’—’/‘\

E ’FTF’ B)9:1
} : A)6:I] O 12: 1
B | 1 1
Ve edl TR f[})—; 2xaTe # Reheating ¥ @1 &iem &7
L :'l in eas turbine results in 72 A) @ &1 I qer %é
| Reheating in g: )
72~ /R;ig?r'eaésc of work ratio . B) ofie 1117[3'(\‘-]'[ HH Eﬁﬁ; |
. ‘B) decrease oflhgrmal gfﬁcncncy C) Hr @1 U Hedl €|
' C) decrease of w rk ratio D) A 3R B
D) both (A)and (B). T T Rgacxion type ETgsITerd cars m
73| The cavitation in reaction type hydraulic turbin e 2 |
isavoided by A) R AR ?E‘TE ERT|
A) Using high polished blades B) i @ TR & SWAR &N
B) Using stainless steel runner, - )
C) Running turbine at designed speed C) ﬁm@ﬂ’f IS W EAET T
D) All of above D) 3 i ‘
: Sl : 5 74 | U® ®RAe g9 @ Gerdl 80 uidaa €1 fkar gy
74 | Efficiency of Camnot engine is given as 80%. If il ety . L A
: the cycle direction is reversed, then value of COP \ %?faq?ﬂﬂ Freie fbg oy
in.-reversed Carnot cycle will be? v\,_.w! ¢ NSy ) e
PAYT25 . s > | A)1.25 i
/] B ) (./ —'V\ < '\},' P‘/"},‘v B)08 \’/\y/\ I
(:; 8§ N R, €)0.5 “ o v A
’ ./ S Ny . L o
Dyo2s B Ayt > v D) 0.25 b
: ) ‘\1/7 \ //\\ 3
75 | Wood for pattern is considered dry when moisture | 75 | fapar urdY ﬁi‘m’aﬂ 81 W pattern @ fov wed)
" | content is - & | T wEerd 87
A)0% “

NI S Z IS S PNY L7
B)s% " o, | S a{B) 5%
C)Lcssthan]S‘;/f (ST sl & O)15% @ @7
« | D) Less than 25 % D)25% & ow

N

§

76 | 'Accuracy of shell moulding is of the

order ofge |76 | 'Shell Molding' @1 zifera Tohrare 21 37
K
A)0.001 mm/mm %S'\ A) 0.001 mm/mm
| B)0.003 to 0.00S_mm/mT/ B) 0.003 t0 0.005 mm/mm
1 C)0.01 mm/mm g;b C) 0.01 mm/mm
D) 0.1 mm j;#) D) 0.1 mm
: ui
77| The pouring temperature for grey cast iron js 77 | % or= 1 R :
/ A) 1000 1) C \—’h il MR & forg Pourning' araam fbamn
/| By125011C \Q L M
C) |4001|CL/L°° R = SHlio-C
~“ D) 155011 C ") B)1250°C
= \-—0% C) 1400°C
. b D o
78 )| Ornaments are cast by \GTTM
(7| A)Die casting k :
- B) Continuous casting (= 91— A) SIE e
.»:C‘) Pressed casting e % B) ‘Continuouys' S
A 4 D) Centrifugal casting = | C) 'Pressed’ R
L1 =" | D) ¥etivarg ey
79 .| Thesand is packed on pit moulds with . . - =] ™y -
“ /| A)Manually : Z RN Pit Mould vy 5 DY Wy 5 = €
| B)Squeezers — ] A) B ‘
C) Jolt Machine

) D) Sand SlmW

C) Half on die and half on punch
‘D) Depends on the material.
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: ) ¥ 'Fatipue Resistance' 4G @ [0 gardl
81 | The process used to improve fatigue resistance of | 81 gg:"; e q% aren T & 5 f @
metal by setting up:icompressive stresses inits )
surface is AT irei
A) Hot piercing A) 3= WLemEng
B) Extrusion B) taqcwul
C).Cold peening C) @res ifyr
D) Cold lcadlng D) Bree ST
82 | Thread rolling is restricted to 82 | %S e o w Whfa &7
A) Ferrous Materials A) O g |
_|-B) Ductile Materials B) saeigd uarf |
| C) Hard Materials C) ¥ werd |
D) None of these D) ¥l © B 7|
83" | Coining is the operation of 83 'Coining' &%) fikar 27
+"A) Cold Forging _ A) Bles BRI
B) Hot Forglng. . B) g BRRNT
g) gpld Extrusnon C) Pres TaHTHT
) Piercing D) Y -
84 | Metals like lead and tin are hot worked at 84 | I=a awrTA fHAN Lead 3R Tin & foq f&a
temperatures around ' A W B 87
A)S00=600 (1 C A) 500 - 600°C
B)200-300 0 C B) 200 —300°C
C)100C C C) 100°C
§! D) Room Temperature.. ... D) F& araH
85 Which of the carbon steel has maximum 85 | [ o W ¥ doe &wdl §aid 27
weldability; A) 0.15 % Carbon Steel
A)0.15 % Carbon Stee] B) 0.30 % Carbon Steel
“| B)0:30 % Carbon Steel C) 0.50 % Carbon Steel
C) 0.50 % Carbon Steel #7 D) 0.75 % Carbon Steel
D) 0.75 % Carbon Steel
86, | The amount of current necessary in resxstance 86 | 'Resistance' dfeeT faega arr & = e B
welding is of the order of: Y,
A)1=2KVA/em? A) 1 -2 KVA/cm?
B) 2.5 -4.0 KVA/cm’ B)2.5-4.0 KVA/cm?
€456 KMA/cm?r C)4.5-6.2 KVA/cm?
D) 6.5-7.9KVA/em D) 6.5-7.9 KVA/cm?
87 | Thermit welding is a form of: 87 | :RMe Afcsw fba oon & ey 2
. A) Resistance Welding A) Resistance dfee
B) Gas Welding B) i dfeeT
+4-C) Fusion Weldin :
A D; Forge Weldmgg/ gi Wl _ig: ’
88 | Under cuts in weldments are caused due to: 88 | dfesT ¥ srsxae Toa w9 grd 2?7
| Sievasces 9o e
wcf ) SIS A= A faega )
C) Wrong Selectipn of Weld Rods C) ¥ B @1 Tom S
. D) Wrong Flux D) et v |
—
89 | The angle between the face and flank of fthe single | 89 | Single point cutting il W %W 3R Boiws B I
point cuffing tool is known as; d BT B R Ty 22
A} Rake Angle I A) XS Fvp
B) Clearance Angle 3 \.// Z‘ B) Tehars ®rop
OUpdmgle= /SR S C) fora
oint Angle D) fawg @
In electro-discharge machining, the tool is made 90 'Electro-Dlscharge aehifa & o fae gy 20 |
g of: A) Tungstan Carbide -
; A) T.xr.gsten Carbide B) @i a1 Wigq
| B) Diamond. C) ri
A ,C) Brass or Coppe D) ¥+dw v
D) Stainless Steel
9 — |
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The degradatibn of plastics is accelerated by 91 y et

o1 A
91 2
“——t-A). Ultraviolet Radiation B) ¥Ier
~ | B) DPampness . C) e arraReT
C) Corrosive Atmosphere D) g A FrE T .
£
.| D) none of these o AT A9 UR RveS ¢WR DI W BIT 82
. ) faferT
92+ | Standard taper generally used on milling m A) Hr
spindles is: B) @1% T ARY
A) Morse - SRl
.. | B) Brown And Sharpe : )
“1"C) Chapman D) ¥
.D) Seller’s ) o
: i limitation of. | 93 | Yl fHR @I & I
93 | Reproduction of sharp corners is the limita A) ECM
gt B) EDM
__l-BYEDM :
C) Laser C;
D) Plasma D) s ,
: T P PBIT T 3T B @y
94 | Adrll considered as a cutting tool having zero 94 ;?c\?" @ w9 H, SR
rake, is known as a: FEd &
A) Flat Drill A) weie fd
B) Straight Fluted Drill B) W wdfes ¥
= C) Parallel Shank Twist Drill C) 9n=R ¥F efawe fga
D) Tapered Shank Twist Drill D) 2w ¥F =fve ¥
95" | The purpose of jigs and fixture is to: 95 | Rrr 9 fhawr @1 @ oM 2?
A) Increase machining accuracy A) TRHT B ggrET|
B) Facilitate interchangability B) 'Interchangability’
C) Decrease cost on quality control C) TVl WX Gd BH AT |
»)))’All of these D) A & |
96 | Various modes of heat transfer are: 96 | o e @ T fafy 87
A)ﬂ(:,‘gn_dvpction A) e
.| B) Radiation_ B) fifdwor gwr
C) Convection C) wag
I of these™
i D) % i
97 | Ingds welding, which gases are not used: 97 | T AT | pr—ar Ny TR T BIdT 27
A) (?2 + C2H2 A) Oz + C2H2 *
=—tB)N, + Hy "’ B) N, +H,
C).0, + H, C) 0, + H,
D)CO +H, D) CO +H, .
98 | Taylor’s principle is concerned with ) 98 | Taylor & R¥ar ux =y ik 27
A) Pneumatic Comparators A) R’{m IR ’
B) Interferometric Measurements B) gexiRnfiey
2o Gauging Measurement\-‘_”,ﬂ C) o
D) Angular Measurements ) . i
» D) oivirg wg
99 | Machining centre is a 99 W
A) NC machine tool A)NC w5t
B) Transfer machine tool B = S
C) Group of automatic machine tools, ) FRR w0 &
«|-P)Y Next logical step beyond NC machine. C) smefes T T e
| N D) NC #1 2 Sy 281 sre
100 | Powtler metallurgy techniques are used in the 100 - -
production of 7
A) High Carbon Steel Tools
B) HSS Tools B) HSS = N
«_-| C) Tungsten Carbide W 0) Tungstan PRAZS T S
D) Twist Drills D) e fp ‘

10
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A . :grsa:ﬂ;{ . ) ki hq ?7
i imenisi .3 is the case 101 @ 325/323 B W9
'] 01 (l)i;(pressmg a dimensfon as 32.5/32.3 is the A) Usiateral Y
A)-Unilateral Tolerance B) Bila_teral TN
B) Bilateral Tolerance C fafaem ST
'C) Limiting Dimensions D) 3 wi
) D) All of above . .
W The flow error in case of normal nozzles is of the 102 | ARwd Aot ¥ 98 af? e amR 3 Rl
order cf* : e A)0.1%
[ A)0.1% B)0.2 %
B)0.2% C)0.5%
C)0.5% D) 1%
D) L% |
103 | The S-N curve for steel becomes asymptotic 103 | ¥ @ forg S-N Curve tReiR® #a a=ar &?
“car]y, gk \ A) 10 cycles.
A) lO4 cycles. B) 10* cycles
B) 106 cycles C) 10°cycles
L42C).10%cycles D) 10° cycles
l?) 10° cycles
104 | In PERT analysis, a critical activity has: 104 | PERT 3, fsfewar ywfefad) aar v 22
A) Maximum Float. A) 4% Float
A-B)-Zero.Eloat..— B) ST Float
C) Maximum Cost.
D) Minimum Cost. C) waife wt
: D) =aw @i
105 | In‘inventory control, EOQ depends on : 105 | 98 ya=m & RM, EOQ fra w frik &2
A) Holding Cost..... A) BfeeT @at
C) Consumption Rate,
T C) @ud
» ;l«)léllof these. D)4 wit
106 | An assembly activity is represented on an 106 | Operation Process Chart ©¥ 3Rl fibar @) fha
Operation Process Chart by symbol: fog & ey &2
A) A A)A
{B)O" B) O
/oD C)D
D) D) O
107 | Depreciation can be calculated by: 107 | Feera a‘h# BT ST 22
“<-A) Diminishing Balance Method. A) Diminishing balance fafy 9
B) Time Series Analysis. B) e it Afy ¥
C) ABC Analysis. C) ABC fafy &
D) All of these. D) & Wit
108 | Goal Programming can involve: 108 | e S § qan @ woar 87 .
A) One objective; one constram't. A) TP I529, & Ry
B) One objectivej multi constraints. B) v® 953w, e aavy
| ©) Multi objeciives; multi constraints. C) 3% 353%, 3riw iy
D) Multi objectives; one constraint. D) 3R Teew, T 2rmy
P ) ‘ — .
109 In sampling, AQL means: o 109 | Juferr % AQL &1 1 7aeiq 27
+{"A) Acceptable quality lexek=" A) Wiga o daa
B) Average quality level. B) shva wrae draa
C) Asymmetric quality level. C) vafieRs o e
D) None of these. D)z @ ¥ 58
“ﬁél STETS! BT gefar &7 - ]
Ship building yard represents: 110 ANE: am arett a 3
') Fixed Layout. B) Fixed @1—amae
‘B) Product Layout. C) W‘“sae 2‘~‘1'§3 :
C) Process Layout. ) WRE d—aae
D) Manual Eayout. D) #33a d—amse
o = - =

s, Y AN
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F 11 | Which of the following is a point imperfection? 1] ?m’_’—\\
‘| A) Vacancy. - B) TR AR SR T
B) Interstitial imperfection. : .
C) Frenkel imperfection. C) 9ad 3
D) Allof these. D) & @il ﬂ
S . . i Hdq TN B &7
112 | Simplex method is used during: [12 | Simplex Method
A) Queuing theory. PSR A) Fgfdm Rrad.
L-B) Linear prot,rammmﬂ-«" ' B) fafraz grmfET
~] C) Inventory control.' C) ga=f yax
D) Network analysis. D) Yeqd gawr
. . T £
113 | Piezometer is used for measuring: 113 A @ A E
|- ¥erPressure. A) €@
B) Temperature. B) arawm
() Electrical Resistance. C) ﬁg}ﬁu Resistance
D) None of these. D) s & B T
114 | A dead weight tester is used for: 114 | 33 9e %wx adl wart e &7
| A) Calibrating pressure measuring instruments. A) a1d A9 & 7=t @1 Caliberate HX @ ﬁ‘R’I
B) Producing high pressures. - B) 9= garg g @ e
C) Measuring weight. C)aR A7 @ faq|
D) Measuring resistive force. D) ae1 W & frT |
115 | High vacuum pressure is most commonly 115 | 5= fafd <ama @ gfae a1 &7
expressed in: A) TR
A) Paseal. B) o 3. %
B) cm of water. C) 2R
&) Torr HEET
"] D) micron . D) u |
16 | A bdrometer measures: 116 | =Rrfer & @1 Ao 27
}-A) Atmospheric pressure. A) 919 &1 q419
B) Gauge pressure. B) w1 <am@
C) Absolute pressure. ‘ e
.D) Vacuum. . R e
. : D) fadma
117 | A venturimeter is preferred to an orifice plate 117 | 3f5H e & JoEd aGRae] Fa1 SaraT
because: | SRS BT &7
‘| A) it is cheaper.. A) T g 2
B) it is easy to install. - B) Install &= smar g 2 |
Q) ?’"}ffgy 'Osshi,s ﬁsf"/ C) St sy &9 et ¥
D) it has very high life. ‘ D) at % Bt & |
118 | Thermocouples are generally used for measuring | 118 | ®RAI®US fha1 armmm v |og 82
temperatures up {0ie A) 500 C.
A)500C. B) 1000 C.
B) 1000 C. C) 1500 C.
_1€) 1500 C\.// D) 2000 C.
D) 2000 C.
119 | Tachometers are used to measure: 19 [ 2o R v
A) Acceleration. N S| A) iR
_47B) Angular velocity. \ G (x \Vd B) a7
.| C) Time. . {‘\ ‘ 2 C) & -
D) Force. \ ¢ R
) Foree (\)x\) . D) 7
/
120 - W]u'cp is not a casting defect? 7 120 | ¥4 & FiRkeT e P 73 &7
A) Misruns. : 4 A) g <
_-B)eope and Drag” ‘ B) @
“1C) Lifts and Shifts. = s *T
D) Sponginess. ) fe o Ree
| D) surfrrg

12
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GENERAL STUDIES AND REASONIN
121 | Missing term in the given series is: 2 | = g 1 R @
BDF, CFI, DHL, .......... = ng CFl. DHL -
A) CIM N R OFL e,
B) EIM B) EIM
) =10 C) EJO
D) EMI D) EMI ,
122 | Missing term for the given series is: 29 | 3 e g '
SESGILIBL, ..., G2 Jp PN il b I SR
l O . ¥ > 9 sesssscses
B)25 N g; £ e
C)27p he
D) 27N QP
123 [ If7X 1 =64 and3 X 9= = =
A and 3 X 9 =144, Then 5 X 6 = 2 123 |3k 7x1=64 siR3x9=144 A Sx6=7
B) 55 A) 22
C) 121 B) 55
| g
124 | Cis A's father's nephew, D is A's cousin but not 124 | C,A S far o1 wdftan 81 D, A @ aR Red & &
the brother of C. How is D related to c? é : .
A) Father (Cousin) wg C @1 w12 =&l 8| C 3R D @] @
B) Sister. e &7
'C) Mother ) A) firer
D) Aunt B) g8+
' C) =t
— : D) ==t _
125 .| One Megabyte is equal to: 125 | t@ 'Megabyte' (Ararse) fraa 9
A) 10,00, 000 bytes A) 10, 00, 000 bytes
B) 10, 00, 0000 bytes B) 10, 00, 0000 bytes
C) 10, 24, 000 bytes C) 10, 24, 000 bytes
| D) 10, 48, 576 Lytes D) 10, 48, 576 bytes
126 | Most recently, ‘Bharat Ratna' award was given to: | 126 | &1d1 & § WRd—<cT & b9 TaraT Tar
A) Lata Mangeshkar A) A1 HRTaHR .
_LjTP;\n:i’t Bhimsen Joshi. | B) f¥e e o
C) Dr A P J Abdul Kalam. “ ) 3 - N
D) Pand:t Ravi Shankar D) ;ﬁfﬁf iﬁ .
127 | New Delhi was host to: 127 | 73 Rl 3 [ Sorry 27
A) | Asian Games A) 1 iR @«
UB) XIX Commonwealth Games. 1 B) XIX s @
C) IX Asian Games. “ | C) IX v @
.D) All of these. D) A i
128 | Next Olympics are due in 2016 at: 128 | 2016 ® 3T SNl @ Par TP
A) Los Vegas. A) # amrR
B) Tukyo. B) et
‘| C) Paris. C) iR=
| DyRio de Janeiro. DY R & SRfRa
129 | Olympics started’ 129 | et téa P Iw gY?
A) At Athens in 1892. A) 1892 ¥ forw 3
B) At Rome in 1902. B) 1902 % 3 ¥
C) At Athens in 1896. 4C) 1896 % dory %
D) At Paris in 1900. D) 1900 # afRs ¥
139 La;rgest ocean on earth is: 130 T;ﬁ W HIH TS AEEIR BT 87
A) Indian Ocean. 'B) SN
; B) Atlantic ocez:i/ . GIWEHT%?B AERITR
‘ C) Pacific Ocean, HETRTR
! —_ | D) Arctic Ocean. - s D) yrafew #eremm ‘_\
‘ <~ 13 T
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131 | Which combination iy not correct: 131 m o e & ‘]
“A) Iran-Rial. NG LA
B) Russia-Ruble.’ B) ®¥d—wad
C) China-Yen. | C) -
D) USA-Dollar. D) 3iR&T—STeR
132 | Which combination is correct: 132 Eﬁh?ﬂ e S 7
A) Hyderabad - Musi. A) texmarg — ’I\'ﬁi P>
B) Jabalpur - Betwa, B) STadAqR— S
C) Pune- Godawari. C) q\:ﬂ_m
D) Agra - Ganga. - M@m__w
| 133 | 'Cockpit of Europe' is used for: 133 | F) BrpIe I HEerd &7
A) Sweden. A) ErsH
B) Belgium. B) afeuraH
C) ltaly. b C) g
) Germany. D) SR
134 | First month of Indian national calendar is: 134 | WRdA detvsy BT GEdl HEA P &7
A) Phalguna. A) BTTA
‘B) Magha B) g
C) Jaishtha. Q) S
D) Chaitra - ' y‘t‘)ﬁ
135 | India's first satellite Aryabhatta was launched in 135 | “IRd &7 qeel A SUUE IS HE BT TA?
A) 1972. A) 1972.
B) 1973 ‘B) 1973
| C) 1974. C) 1974.
! D) 1975. D) 1975
i gy
136 | Durand Ling is: . : 136 | Sxvs ag @ &2
A) Boundary line between Pakistan and ~A) TITHET T AGMRAE & &rg ) A |
SIS e, : _ B) TIfaRa @R 9Ra @ dra 3 K
B) Boundary line between Pakistan and India. , C) A et AT B e @ G|

C) Boundary line between India and China.
D) Boundary line between India and Burma.

D) g @ Ra @ 4 @) [

137 | As per Indian constitution, fundamental duties do | 137 | =g WRe™ & HER, Hon@ daar m I

.ot enjoy any: T8 ¥
A) Social Sanction. A) W
B) Moral Sanction. B; 3 g
C) Political Sanction. 0) v IR
D) Legal Sanction. XTSI Igenia
| ‘ | D) s
| 138 tPr_esident of India addresses his resignation letter | 138 | wrq & T e e T ST
:j P.' Minister A) W
rime viini .
B) Vice President. L) Su—wrgafy i
C) Speaker of Lok Sabha. C) didw Wy
.| D) Chief Justice. : D) 7= =mranfra
139 | InIndia, council of ministers is responsible to: 139 | ke § ﬁ\—”_
| A) Prime Minister : A) W A 9Re [ Reamw ofe?
[ B) President . TR
f C) People. . ) Xrafyy
/D}Lok Sabha. C) Srar
| W . . D) wirae
’ 140 |.The'term 'Red Planet' is used for: 140 |- Wﬁﬁ\
i JA) Mars. S wRrg &
| B) Mercury 1 <
| 5 B) gq‘ e
C) Saturn C) uft
L l D) Venus D‘) 5 S
b ES
—
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141 [ The retirement “ape of 4 supreme court judge in 141 | I=TH AHTeH s ? o &H
yt:”;l ﬁrﬁmmel
A) 55. A) 55.
13) 54 B) 58
)60 C) 60
1)) 65 D) 65
142 W};;(,h tate does not have I’anclnynl: Rdj systun 142 fae1 T9a 9 ggradl A WOl Al e-
' lata —HIR
A) Jammu & Kashmir g) L
BB) Punjah )m.
C) Nagaland. ) “ane
D) lrlpl:m D) ﬁg—‘”
143 | Which Indian p port lics on Eastern Zone? 143 | 9Rq & qdi de 9 141 TXE 7
A) Paradeep. A) TRIET
B) Kiandla ) . -
C) Cochin B) -
.| D) New Mangalore, ©) e
o D)q 3
144 l" MENT TON s . coded as LNEITNO, then 144 | af& MENTION @1 LNEITNO Tt 9&d &, al
IAIAIE ‘RN is coded as: MHEMNTION PATTERN @49 gofiea?
';‘)",l,‘A’F‘,I’_gI?"‘ LNEfTRe L A) APTTREM.
. n B
C) OTAETNR. r f:\'é X 2/ C; STTQE?;E,{{
| D) OTAETRN. L ET D) OTAETRN
1457 | If D=4 and COVER=63; then BASIS= 7,. 145 | afs D=4 siY COVER=63, @ BASIS=?
- o 'y B) 49
&) 50 m““ po" / &) 50
D) 55 & D) 55.
14() ”"Z=52 and ACT=48; then BAT=7, 146 | afe Z=52 3R ACT=48 & at BAT=?
) 39. a5t ¢ A)39.
l%) 41 oA & B) 41
C) 44. 3 . A C)44.
D) 46 ¢ D) 46
147 If'sky is called sea, sea is called water, water is 147 | M &1 3% PEA €, TR T I ded 2, T
‘| called air, air is called cloud and cloud is called ol ?h?ﬁ 2, 1 B areq aﬁ:ﬁ £ 3R 9cq o)
river; than what do we drink when thirsty? 94 FEd €1 @ ARy ‘s'ﬁ R 89 @ 9y 82 :
A) Sky. i Sy =8 SeS A) ImaaE
B) Gloud m B o B) area
C) A, Rsfagyel C) &
D) Sca . e D) #q=
48 | In a certain code; 786 mcans 'study very hard'and -| 148 | f&< @rs %, 786 @1 Aaea Study Very Hard 2m
“| 958 means 'hard work pays’ and 645 means 'study €, 958 &1 #Aad Hard Work Pays 81T 1 645 @1
and work'. Which code stands for 'very"? #aad Study and Work 8ram 21 39 Rufy 3 Very
A) 8. g Shobr—"1 hard = & T B
B) 6 ol A)§.
). o S
D) 4. ‘/[; Q) 7.
3 D)4
149 | Wrong number in the given series is?, 149 ?2’@6?43”3]5124’?2‘1?1?7 TR T &7
7.28,63, 124,215,342, 511. A’)78’ » (28, 2113,4342, 51
A) 70 B) 28
' B) 26 C) 124 '
g; ;33 D) 342 :
AR & ?
150 | Wrong number in the given serics is? 150 |31 e
rong L 8, 13,21, 32, 47, 63. 83.
8,13,21,32, 47,83, 338 g 15 1€ A) 13, !
i A) |3 s B) 47
B) 47 )21
L 1021 D)32
~:| D)32
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